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Bihar SI Mains 24 April 2022

The apparent flattening of the sun g1
sunset and sunrise is due o the
phenomenon ol :

(A) Relraction (B) Reflection

(C) Diflraction (D) Polarization
waia wE gEEa & e gl w o g
Pra ofwem & @ ¥

(A) 9T (B) wrErRts

(C) fa=ia (D) ygau

During World War [ which country joined
the Central Powers in 1915 against
Bntain?

(A) France (B) Bulgaria

(C) America (D) Germany

wam fagq g8 $ drm @-ar 2w 1915 A
s & faas $0m Tw § e ger ?
(A) w9 (B) gemiwm

(C) T (D) =

Tehri Dam is situated at the confluence
of rivers :

(A) Bhagirathi and Bhilganga
(B) Bhagirathi and Alaknanda
(C) Alaknanda and Vanganga

(D) Banas and Khari

el gy =gl & & oY R ® -
(A) MRdT Tag derm

(B) W gy ARTHar

(C) &eTs-a1 Taq aonem

(D) ==m| way @l

On increasing the temperature of a
semiconductor, its resistivity :

(A) Increases

(B) Decreases

(C) Remains constant

(D) First increases, then decreases
fedl aidae® @1 AW GER 9T IFH!
gfarausan:

(A) Ted &

(B) gz #

(C) a9 T &

(D) wFdt @l & AT wedl &
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o

I in o code language BRANCH is Wrillep
as EPDLFE then how will MASTER be
writlen in that code language ?

z_tf& TE Fe wmr g BRANCH & EPDLEp
feran st & o et g2 wren 4 MASTER g
¥ foren 1L
(A) PCVVIHIT
(C) PXVQHO

(B) PDVWIHU
(D) PYVRHP

All the faces of 0 5 em side cube jg
coloured and cut into picces of smg)|
I-1 cm cubes. How many cubes are there
which have two plancs coloured ?

& S A o a@ ww % g "5aEl @ oy
T At 1-1 T 9 B 9§ gy

T e o A ¥ R @ e T 6
(A) 8 B) 24
(C) 27 (D) 36

Which of the following number is the
smallest ?

Pretfrfiag & & we@ O wem o 6§ 2
y
(A) 77 (B)

(D)

| = =W

5
© 3

Who was made the ruler of Mysore after
the death of Tipu Sultan in 1799 AD.?

(A) Basalat Khan

(B) Pratap Singh 1

(C) Krishnaraja III

(D) Nandraj

1799 % A g 2 7oy 3 S A A
TN fF8 o mar m ?

(A) TN W (B) yamg fie |

(C) pomaen Il (D) wrxrey
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The chemical name of Quartz js
(A) Sodium Silicate

(B) Sodium Oxide

(C) Sodium Chloride

(D) Sodium Phosphate

@S & IWENS AW

(A) aifsan fafade

(B) ®ifEam siess

(C) \ifsam FREs

(D) ®f¥aH wiEe

Which schedule determines the number
of members to be clected 1o the Rajya
Sabha from each state ?

(A) First (B) Fourth

(C) Fifth (D) Tenth

Y T ¥ TEE & Y g 9 9w
w6 7

(A) = (B) et

(C) T (D) =&

The total number of factors of 540 is -

540 & TG D A HEAT & -
(A) 24 (B) 30
(C) 48 (D) 54

In which year did the Jallianwala Bagh
incident take place ?

Herataren am 2 e frg ad  gfe gg 4 ?
(A) 1908 (B) 1909
(C) 1919 (D) 1935

33F_10]

13 When dig Banp

14 Which one

ladesh become an

independent nation ?

AR 0% Toper=y e wn 7 7
(A) 1970 (3) 1972
(C) 1975 (D) 1971

of the following does not
contain silver ?
(A) Hom silver (B Ruby silver

(C) German silver(D) Lunar caustic

ﬁfﬂﬁﬁ@aﬁ%h&‘aﬁaﬁl%‘i%?

(A) e et (B) o faer
(€) o e (D) e #ies

15 Which one of the following enzymes is

associated with digestion of starch in
human body ?

(A) Pepsin (B) Lipase
(C) Amylase (D) Insulin

frefofga § 4 e vy, e 9T 5
WY & e 4 gatg & 7

(A) TEm (B) wE=
(C) ummew (D) z=gf=

16 Raj bought a shirt and saved Rs. 20 when

a discount of 25% was given. What was
the price of the shirt before the discount?

(A) Rs. 75 (B) Rs. 80

(C) Rs. 90 (D) Rs. 100

25% T i T W T A U ¢ @i qm
20%, F9 | GT W WO W HT Ed a7
(A) 3. 75 (B) ®. 80

(C) & 90 (D) % 100

[ Contd...



20 Which among the f’ollo“.inn
Ministers did not serve as a Chic‘: I'rim._

M\

17 Match the following @

Side opposite to angle 0

(A) tan0 ol a state ? Miye,
1ypotenuse (A) Charan Singh
N anele 0 ) (B) P. V. Narshimha Rao
Q) Side adjacent ln‘mk.lt (13) sin0 (C) H. D. Deve Gowda
Hypotenuse (D) Chandrasckhar
Side oppsite to angle 0 C <0 fr=fefaa i q O/ BAE TUTEE & -
() Side adjacent to angle 0 (&) fco T F 0 H B el f?’-'ﬂ ? ’
(D) secOd (A) =T fﬂgu (B) 91. 41 oy
Ar=fifea @ e iR (C) wa. =1 z3E=T (D) F28mmay &
(1N T 0 & HHA AR (A) tan® | 21 Mixture of chloroxyvlenol and teen:
m erplr%!
acts as -
®YeT O F a1 a1 _— (A) Antiseptic  (B) Antipyretj
(2) - (B) sin (C) Antibiotic (D) Analgesics
w1 0 F |wrEd Al aﬁi'{'ﬁ'”siif el T CUATATT BT o g
Y == (C) cos® ®q 5 w1 ST & 7
D 0 (A) Trmoras (B) ==nm=
(D) sec (C) whidfas (D) WS (s

(A) (1)-(B). (2)-(D). (3)-(A)
(B) (D-(C). (2)~«(B). (3)-(D)
(C) (D(B). (2)-(C). (3)-(A)
(D) (1)-(C). (2)«(B). (3)-(A)

22 The ratio of the father’s age 10 the s
age is 3 : 1. The product of their agss is
147. The ratio of their ages afier 5 yex

18 Which of the following is a semi dwarf, N .
high yielding varicty of wheat in our e o= 3 SHIELEHT i “_ﬂ 3 :,] ¢ '?‘_
country ? GTFQHW‘H?% | 979 &9 T7 =
(A) Vidya (B) Jaya Y &1 9 8 -

(C) Champa (D) Lekha (A) 13:6 (B) 12:5
mﬁ%mﬁ.ﬁﬂ%ﬁaﬁﬁﬁaﬁ?{ﬁﬁﬁaﬁﬁ (C) 14:6 (D) 3:2
T U4 T AR 9l feE & ?
(A) fam (B) = 23 Which bacterium converts milk into cord’
(C) amy (D) @& (A) Lactic acid bacteria

(B) Acetic acid bacteria

19 Integral Coach Factory is located at (C) Butyric acid bacteria
(A) Bangaluru  (B) Kochi (D) Citric acid bacteria
(C) Peramboore (D) Mangalury U H T Y qiEiig 5 T ettt
Integral ('uacl; Factory (x=2wer wrg (A) @frzs ofrs AFitma
wrear) feaa (B) oftfrs AR
(A) ange o (B) w=ifer ¥ (C) v{&wnﬁgﬁﬁm
(C) Yoy o (D) ﬂ"‘lﬁﬂ' i (D) fafrw ufts AAF

33F_10]
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26

27

which of the following is o Gienctically
Modified Crop Plant 9

(A) Green Wheat

(13) Yellow Mustard

(C) Cherny Tomato

(D) Golden Rice

prafafad ¥ @ W s wutafa
am aza &7

(A) Tha T (B) 9l wray
(C) 90 T (D) gawu um

Samir said, “Sarika is the wife of the
orandson of my mother™. How Sarika is
;clm::d to Samir ?

(A) Daughter-in-law

(B) Sister

(C) Mother

(D) Daughter

T F FHeET, WIS, T "6l 6 G B g
t | W 68 YER g9 § gdta ¥ 7
(A) 3399 (B) @&

(C) =i (D) g

In nuclear reactors, graphite is used as
a/an -

(A) Fuel (B) Lubricant

(C) Moderator (D) Insulator

gaTY] frueet § TwEe & van fee ' o
P @ & ?

(A) Zus (B) ©rea
(C) Wz= (D) pams

The headquarter of Central Railway
division is -

(A) New Delhi  (B) Kolkata

(C) Mumbai CST (D) Jaipur

T @ Aved @ gedarad & -

(A) =% faeelt (B) @t

(C) Hag @um . (D) 7@yl 7

33F_10)
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30

31

32

What does iron deficiency lead to 7
(A) Beri-beri (1Y) Scurvy

(C)Y Annemin (17) Diabetes
Sy A w0 owar wrn b7

(A) Al ah (1%) vl

(C) fferm (13) Tz

The Fquator does not pass through which
one of the Tollowing countries /7

(A) Brazil (13) Somalia

(C) India (D) Kenya

ey e Prefaftaa § 0 fen 2a & wa A

T e b7

(A) ari@ (13) wrenfera
(C) wrta (D) &=

The Bhakra Nangal dam is built on
which river ?

(A) Ravi (B) Sutlej

(C) Chenab (D) Jhelum
e Aime 9y e a8 w7

(A) Td (B) wags
(C) drFma (D) zr@=

Jog waterfall is situated on

(A) Mahanadi river

(B) Narmada river

(C) Tapi river

(D) Sharavati river

W7 e faa & -

(A) TEFEl UT (B) =var =141 9t
(C) ardi =&r 9T
Jahanara's biography of Sheikh
Muinuddin Chisti is -

(A) Munis al Arwah

(B) Tasawwufl

(C) Kashf-ul-Mahjub

(D) Qalandar

srerra & fofaa fa giade fasi &
dre ¥ -

(A) | o arean

(B) TH

(C) &% I0-"o63Id

(1)) wmer=(

[ Contd...
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(A sl 1922

When did Mahatma Gandhi withdraw the
Non-cooperntion Movement 7

(A) T'ehruary 1922

(1Y March 1921

(C) Tebruary 1921

(D) March 1922

HETET T A arHealn SEEET W) wA ange
o o 7

(13) wrd 1021

(C) wradl 1921 (D) urd 1922

34 Namdapha National Park is situated in -
(A) Arunachal Pradesh
(B) Mizoram
(C) Manipur
(D) Sikkim
Tzl (Namdapha) e s faa & -
(A) srEvmaer w2ar o
(B) Famm o
(C) =g J
(D) fafezm °

35 Which of the following acids is used for
an ctching glass ?
TFFERIYEN @i & a0 B § | fea ena &1
IgEm fmar s ¥ 7
(A) H,S0, (B) HNO;
(C) HCI (D) HF

36 Which Constitutional Amendment Act
made it obligatory for the President to
give his assent to Constitutional
Amendment Bill ?
fom waufr asim sifufram & wro weufy
% fora wawuts deiras fadas gt weaf
sfrad fear mar 7
(A) 24t (B) 42nd
(C) 44t (D) 48t

33F_10]

37 Son river springs from
(A) Chhotanagpur platesy,,
(1) Amarkantak
() Janapao hills
(1) Gure Mandhata Peg)
R IR ARt G O
(A) V121 ST qzre
(1y) SrreET2E
(C) arnura el
(D) 75 wiuran =k

38  An crror of 2% in excess s Made
measuring the side of 3 SQuiare “he
pereentage of error in the Ldlculdf,:d L
of the square is -
ﬁﬁé’!ﬂﬁﬁ‘-m‘ﬂm'ﬁm,ﬁqh
atferes =T9T AT | IH T % TE oy
§ amdt 3z afia s A |
(A) 2% (B) 4%

(C) 4.4% (D) 4.04%

39 Puga Valley is located in -
(A) Ladakh
(B) Sikkim
(C) Arunachal Pradesh
(D) Himachal Pradesh
ardl Rga & -
(A) wer@ o
(B) fofrmm &
(C) orevmaw wayr §
(D) fermae wor o

40  Which Janpad became the most Pﬂ“""ff';
Mahajanpad between the Sixth and Foe
centuries BC 2
(A) Koshala (B) Kashi
(C) Panchala (D) Magadha =
T o o e whe g € ©
T A gfeneh weraeaE @
(A) T (B) el

(C) vam (D) =y
[co®



4

*Amlah™ was the officer of ___in Bengal
(A) Diwan (B) Jotedar
(C) Kotwal (D) Zamindar

ﬁwﬁ"ﬁm'xm-ﬁmmm;

(A) Zam (B) =
(C) @raam (D) wrdfary
42 Murrah is a breed of -
(A) Cows (B) BufTaloes
(€) Camels (D) Donkeys
U T R -
(A) T (B) %m =
(C) Fz = (D) T =
43 How many members were there in the
Cabinet Mission which came to India
in 1946 ?
1946 5 9d a0 Hz fagm § feay
I g 7
(A) 2 (B) 3
(C) 4 (D) 5
44 Which of the following was not a
classification of land under Akbar ?
(A) Polaj (B) Parauti
(C) Banjar (D) Zariba
F=fiEa ¥ § Fa aeat & @ B 9y
F B0 qE R 7
(A) diers (B) u2dn
(C) o (D) s~
45 Who was the 23™ Tirthankar of Jain
religion ?
(A) Rishabhdev
(B) Neminath
(C) Parsvanath
(D) Mahaveer Swami
T oyl w1 2397 Sidwy @ ar ?
(A) e (B) =irma
(C) wida (D) =TT w@rdl
33:'-'__10]

40

47

48

49

Border Roads ¢)f

. ganization (BRO) was
¢stablished g -

(A) 1950 (B) 1960
(C) 1970 (D) 1948

W rae (R.3m0.a30,) 1 1amen £

T
(A) 1950 %

(B) 1960 %
(C) 1970 %

(D) 1948 %

Ankleshwar is located in -

(A) Madhya Pradesh

(B) Gujarat

(C) Assam

(D) Rajasthan

HE7aT fom & -

(A) 7@ Ra ¥ (B) roa &
(C) amam ¥ (D) T &

The last ruler of Awadh state was -
(A) Wazid Ali Shah

(B) Bahadur Shah

(C) Masood Ali Shah

(D) Nizam Shah

AT T & gifam maF o1 -

(A) T ol 9me (B) @=igt e
(C) 7gz areil sre (D) Fram qm=

The kinetic energy of a particle moving
with velocity “v" is *K". If the velocity is
reduced to -:l;-'d of its initial value, then
Kinetic encrgy becomes :

VT g TR 95 B s St K
i A ) i m 3 < T e e g

K
(A) 9K B) <+

K
(C) 3K D) =

[Contd...



Iw-mnnp.lltf”‘: substances ar |
§8 ) weakly repelled o g Magnel
;” sreongly repelled 1o may '
strongly attracted 1o g i
) weakly attracted 10 g 4
et warl
(A) T O = T Ryt ™
R ﬂ‘ AT 1T R Raf wg b
©) g AT waw aw g M {thy
ma o
D) g B o & = 71 ity
o

mel,
phet,
ngnel,

on top of which Mauryan Pillar is (hc
saatue of large clephant installed 2

(A) Sarnath Pillar

(B) [auriva Nandangarh Pillar

(C) Sankisa Pillar

(D) Rampurva Pillar

frm il & & 9 9T U Rygmer wreh v
t?

(A) Y WY
(C) "awa &Y

(B) <hfar = wiv
(D) TmgTEr @y

90 Who is the author of ‘Silent Spring’, a
supporting book in spreading awareness
about the environment protection ?

(A) Charles Darwin

(B) Rachel Carson

(C) LEdward Wilson

(D) Ralph Emerson

WgiaTe §EAv & 9§ AnTEHdl Bdar o
WEa% YEId WEde [ d aad B 8 7
(A) Trd == (B) 9 FrdA

(C) wzad fagwmm (D) Ued F0dT

91 The remainder when 77 is divided by
4 is .

w77 F 4§ fywfra fEw arn d

@ ffmm @; _
(A) 1 (B) 2
(C) 3 (D) 0
33F__10] 13

l]z

93

94

95

|‘Hn|_\,'n Dam has been constructed on
rver

(A)Y Barakar
(C) Chmbal
fadyar wpsy
(A) =t
(C) wrvorm

(1%) Konar
(1) anas
ke faffr %0
(13) wrre
(1) =

Which Act ended the trade monopoly of
East Indin Company in India 2

(A) Repulating Act of 1777 A.D.

(B) Pius India Act of 1784 A.D.

(C) Charter Act of 1813 A.D.

(D) Charter Act of 1833 A.D.

5 waz & zro v W f 2 A
aiE umiam awma w7 o 7
(A) 1777 €. =1 Q@ n3=

(B) 1784 £, & fyzw 3fear ooz

(C) 1813 . &1 arét maz

(D) 1833 %. &1 AT uae

What should come next term in the
following number series ?

Frafafaa e 2o 9 aren 92 T @
e ?

718532694, 18532694, 1853269,
853269, ?
(A) 53269
(C) 5326

(B) 85326
(D) 18532

Koderma is known for the mining of .
(A) Limestone (B) Marble

(C) Mica (D) Copper
e % @ & g s s &
(A) I 9t (B) €mmTHT
(C) Vs (D) ran
[Contd...
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96

List 1 List 11
Constitutional Provisions
Amendments

(a) 101 (i) Removed the
provision of
reserved seats for
Anglo Indian
community in Lok
Sabha.

(b) 102 (i) A maximum 10%
reservation [or
cconomically
weaker section

(c) 103 (iii) GS'T was introduced

(d) 104 (iv) Constitutional
status to National
Commission for
Backward Class

T ] T 11

Hawhs deiras LICE E

(@) 101 (i) rHeETT H i IR
e & o amfdm
gt & wagas &)
T A

(b) 102 (i) onf¥fs w9 q w9
i & o arfeman
10% 3TTTETvT &t qaee

(c) 103 (iii) o%g wd Far BT @0

(d) 104 (iv) T et =01 amanr
@ waute =t

Select the correct code :

wél gz gha ¢ _

(A) (@)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

(B) (a)-(ii), (b)-(iv), (c)-(ii). (d)-(i)

(C) (a)-(i), (®(V), (e)-(iii), (d)-(ii)

(D) (@)-(ii), B, (-0, (@-(iv)

33F_10] i

14

97

98

99

100

Which of the following State

incorrect for alternating cul‘rcl:lrllcm‘ i

(A) It can be transmitieq e {
distances. er

0
(3) Its production is cheaper, Ng
(C) It has a constant valye.

(D) Its voltage can be casily ¢h,

ﬁﬂﬁﬁiﬁwtﬁmmmﬁm%gﬁ’m_

T E 7 s
e |

(B) 9T IUTEA WEA B ¥
(C) mqﬁrrmmmm% ,
(D) zﬂaﬁaﬁmmﬁammmh

A shopkeeper has a sale of R 6.43

Rs. 6.855, Rs. 7.230, Rs. 64927'35‘
Rs. 6,562 lor five consecutive Mon n‘d
FHow much sale (in Rs.) must it make ;.
the sixth month so that it gets ap a,'_m;n
sale of Rs. 6,500 ? s
forell SHAER &1 B GT TS 1 fgy
T. 6,435, B. 6.855, . 7.230, %. 6,927 5
. 6,562 % 1%, 6,500 afrgg fama wrg =

%gzﬂm%nﬁ%ﬁﬁmm(ﬁ.ﬁ)ﬁzm;g
2 ?

(A) 4,890
(C) 4.991

(B) 4,900
(D) 5.004

Who is the author of Mahatma Gandhis
biography ?

(A) D. G. Tendulkar

(B) Krishna Pillai

(C) J. M. Sengupta

(D) C. R. Das

nzmgr‘r‘aﬁ N Mgl & dEE B € 7
(A) 31 9. J=awT

(B) o freerd

(C) <. wm,

(D) €. ot T

Regur Soils are also known as -

(A) Black soils (B) Red soils

(C) Alluvial soils (D) Laterite soils
el g s A oy wrh o € -

(A) @ fiftat (B) wrw BfE
(C) =i PRmi (D) dease B
[ Contd--
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&0 The construction of steel plants at Bhilai,
Durgapur and Rourkela took place in
which five year plan ?

(A) lirst (1Y) Second

(C)y Third (17) Fourth

fend, o ve aT@en W sy ddsi wm
Fralo fve et @isem o gan e ?

(A) wam (3) ficira

(C) gy (D) wxd

51 Which ol the following metals respond
only to UV light 1o cause eclectron
emission from its surlace ?
(A) Sodium (B) Potassium
(C) Zinc (ID) Caesium
frer o @ @l urg Feaw codT o o
ufafrar ot oA gy A ARt swhi
T ¥ 7

/(A) wifsam (B) drfiyray

(C) Fimw (D) Hfram

52 A vehicle starts from point P and runs

H dym 7 £
/(A) ol
(C) T¥rt |
o .*,' e
33F_10]

10 km towards north direction. Tumns to
its right and run 15 km. It then turns to
right again and runs another 10 km to
reach point Q. Afler taking the second
turn, in which direction will the vehicle
be run ?

(A) Last (B) West

(C) North (D) South

u% A P fag @ 10 fed gae B § dean
b 1z i gemT 1S fedy drean & | g5 g
2 S ygwT 10 el deet g Q 9T
wge ¥ | 360wy 79 % A A e far

q.

53

54

IHow many dots lic opposite to the face
having three dots, when the given figure
is Tolded to form a cube ?

dr fagan % ym & favim 9@ w7
figd wif, s/ oa faa & 9@ § aig
B I

(A) 5 (B) 4
(C) 2 (D) 6.~

Considering the identities, choose the
correct option

(1) sin®@+cos’0=1

(2) tan’@-sec?6 =1

(3) cosec’®@—cot?0 =1

(A) Only (1) and (2) are correct

(B) Only (1) and (3) are correct

(C) Only (2) and (3) arc correct

(D) AIll (1), (2) and 3 are correct
geati@Iel w1 @M § TEd 30 §9E aee
& ghra

(1)
(2) tan’@-sec?0=1

(3) cosec’0—cot?0=1
(A) Fam (1) amn (2) 58 %
(B) &=« (1) am (3) w@ &

- D
sin0+cos’0 =1

(C) Tz (2) 7w (3) wd ¥
il

) | (1), (2) 71 (3) w@ ¥
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51

58

i Tiger Reserve is situated in whicl
N"mnl' e following state of Indjy
o sam (B) Odisha
(M) K“mﬂmkﬂ (D) Chhattishgarl,

)
i;w,{@r(ﬁﬂ'@i d ¥ R e i

oy
(B) onfsam

(D) BAETE

A range the following words in a

ogical Order: |
" 1ospital 2. Treatment
Admission 4. Disease
5: Diagnosis
et @ F T Aihd FA
rafter G |
L, JTaITel 2. By
e 4. m
. frer
(A) 4 L3 5,2 (B) 4,1,3.2,5

) 1.3 4 5.2 (D) 4,1,5,3,2

fresh water lake in India is -
(A) Dal (B) Wular

(C) Nainital (D) Bhimtal

o § A wE A gad ad e -
(B) X

(D) wHard

The largest

(A) 3d
(C) e

The leader of the opposition party in the
Lok Sabha should at least have
seats of the total strength of the house.

m"ffﬁmwﬁmaﬁ%fa&mﬁﬁ
WA B Fa gl @ & wite @ |
(A) 1/4 (B) 1/6

© 18 (©) 1110~

59

60

61

I 0 800 stemmed plant is cut Imri/nnt-'l”‘:’

near the base of its stem with @ wharp
blade on carly morning of 4 pumid day.
drops of solution ooze through cut stern.
This is due to -
(A) puttation
(B) bleeding
(C) transpiration pull
(D) root pressure

i 7

v ot () fer @ g afE s
aﬁ’lmm’]maﬁ%ﬁeﬂuﬂﬁmﬂﬂm
ﬁ&i’ﬁmmﬂzﬁzﬁﬁmﬂﬁéﬁﬂﬂmf!
ﬁlﬁﬁ?aﬁq‘%f’mm?mr‘fm?ﬁ? | g T4
FW TR & -

(A) frg graw (B) T8 wr@™

(C) arorgarager (D) T &9

During the sultanate period Diwan-i-arz
was the department of
(A) revenue (B) military
(C) administration (D) law

mm?ﬁé‘mﬂw-qamﬁw

w1 oar |
(A) @ (B) &4
(C) warad (D) &

The Pitti Island Bird Sanctuary is
located in -

(A) Andman

(B) Nicobar

©) Coromandel coast region

(D) Lakshdweep

Ry g gl orard Rew T -
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63

64

65

‘World EEconomic Outlook' is published by

which one of the following organisations?

(A) World Bank

(B3) World Trade Organisation

(C) International Monentary Fund

(D) United Nations Development
Programme

ged s sz’ an g frefefea

A @ fvu dam wra fea owar ¥ 7

(A) fava 9& wa

(B) favag @aart dwes wra

(C) s vz &9 &

(D) Tgam = fawm wesd 7w

An orchid growing as an cpiphyte on a
tree is an example of which interaction ?
(A) Mutualism (B) Commensalism
(C) Amensalism (D) Parasitism

ar frar, Frad ue onfes aiftdee & 9@
F ga 9T A ¥, weer ¥

(A) FEMEEHITET (B) wewifrar

(C) srmewfrar (D) wehfaar

What were the forest dwellers known as
in ancient India ?
(A) Mandasor
(C) Nishadas

(B) Malecchas
(D) Panikers

Wwﬁmﬂa@ﬁmwﬁmﬁ
1 A

(A) F=1arx (B) wros

(C) farz (D) aforst

Debsa Pass is situated in which of the
following states of India ?

(A) Uuarakhand

(B) Sikkim

(C) Himachal Pradesh

(D) Arunachal Pradesh

e % Pttt wedi 3 @ fead Saen 9

(=) Raa & 7

(A) TTUES (B) fafewm

(c) feamaam w&a (D) STEITaW WA e
33F_10]

10

67

66 ‘T'he pollen grains of which of

following plants causcs allergy iy,
humans?

(A) Wheat
(C) Rose
Frerfaftaa o A

(13) Parthenium
(D) Jasmine

wwE n 7
(A) T (B) cr{sza'zm
(C) 7end (1) =

Which onc (_:I' lhc’fullnwing is not a pan
of Xylem Tissuc ?

(A) Trachcids (B) Vesscels
(C) Sieve Tubes (D) Fibers
Frefarfaa o @ FA, AEAS B A 7
(A) afefrat (B) arfesr

L/ (C) T AR (D) 9

68 Which of the following rcgion in India

represents a Biodiversity Hotspot ?
(A) Western Himalayas

(B) Eastcrn Ghats

(C) Central Plateau

(D) Western Ghats

Sreqfafaa § | A &5 WId B S
Ffzwitz @ wrre B w7

(A) ufym femmea

(B) qdi =2

(C) 70 et (&= q3Y)

(D) ufyed =

69 Caprolactum is used for the

manufacture of -
/(A) Nylon - 6
(B) Nylon - 6, 10
(C) Nylon - 2 - Nylon - 6
(D) Mclamine

P N —— o R LA
15
(A)W-G

(B) =E@ - 6, 10
(C) =@t - 2 - =gei - 6
(D) Hemrg
[contd...



70 Find the missing number -
g den i akm

4

[3 [1a] 4 |E

8

(A) O () 8

83

() 9 () 12 84

80 In a certain code, BRAIN is written a8
* 05+ # o~ and TIHER is written as $H 1%
then how is TRAIN written in that code?
us Pifyaa gz A afy BRAIN @)
. 0p = # x gur TIER @Y $ # -+ % ferar st
%ﬁaa@wmﬁﬂmmﬁ%ﬂmm

‘ 85

(A) $+% xH# @) $+ %+~
(C) $%+x# (D) $%+ix

81 The procedure lor removing the
Comptroller and Auditor General of Indin
from his post is similar to -

(A) Advocate General of" Statc

(B) Attorney General of India

(C) Judges of the Supreme Court

(D) Speaker of Lok Sabha

ared % Proaw T meeEn s B Sud
a9z 4 T @ whea Praw Read @ ¥ ?
(A) T=a &1 et

(B) ¥d & HETrEan

(C) ToTa =ararad & =ararde

(D) @pgHr Ay

82 ‘Term ‘Sericulture’ is associated with -
(A) lLac (B) Forest
(C) Mincrals (D) Silk
gz tweat it ¥ -
(A) @ q (B) g7 @
(C) afr 4 (D) Tgm @

33F_10) 12

86

87

ol the following Iu the Worlg

- o woeed o
cjous ngquatic: s | "
}l;\‘} l‘fh'hhm'um (18) Pistin

(') Azolla ) (12) Salvipi,
fipefoafeat 71 A AN fevset oy vy yq,
. ’ ” . i ‘r'l’
arand 0 R (L L LA

'rf}f"f"” (1 i) !‘?[l.ff”

(A) Ol :
(C) lgu!)m'f (1)) tiilsifipry

which

¥
5

ol the following coyg,
her of SAARC?Y 21
(A) Bhutan (13) Alghanisty,
(C) lran (1)) Maldives
faprep O N A1 (g, .

Whiﬂh one
pol o mein

o el
(A) W2t (13) b
(C) Fu (1) watg

During the reign of which My,
cmperor  wias Chahar Taslim ..
Zaminbos introduced in the Mugt,
Court? :
(A) Akbar (13) Jahangir

(C) Shah Jahan (D) Aurangzeb
Rp e AT & QT B H e LT s
aret e afre sfEan e e g

(A) 3THAT (13) TmwrmT
(C) 9mESTEl (D) airbraa

Which language was used to preat
Buddhism ?

(A) Pali (13) Prakrit

(C) Apabhransh (1) Sanskrit
drgerd § g 2 g few s AT
fpar ar ar ?

(A) Ot (B) wga

(C) s (D) g

What fraction of a'day is 14 hours ?
14 92, 1 &= 1 fseem W & 7

2 7
(A) = a2
?4 ®) 12
19; 5
(<) 20 (D) E
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33F__1 0]

TH bl S . "
waythiling Cup s associated i), .

‘A) Rowing (3) lorse I{uuiuy T4 Which of he following items have ll‘:'
~y Goll (D) Table Tennis heen found from the Harappan graves
“-ﬁl?lﬁ"" au v Aw A wefg ) (A) Poutery
¢ YT (B) s g “‘1) Ornaments
T il (D) Yam > (€) Cotton clothes
(©) i < 2P (D) Copper mirror
. . i firesy LR ATTL ! R RA R C oG] o ura Tl
The excavation ol llurxlum]mr ook place 1:13 Yo7 '
petweeh _ (A) uizh [ o (3) e
1947-48 A.D. (B) 1950-52 A \ iy
::‘;’ 1053-54 AD. (D) 195536 A 1. ©) g (D) oA
gl W ER?_H SE— Lo 75 Which of the following ranges is not the
(A) 1047-48 %. () 1950-52 g. part of Western Ghal 9
(€) 1953-54 §. (D) 1955-5¢6 s (A) Anai Mudi  (B) Palni
(C) Cardamom (D) Kamect
py using which one of the following lens Pt aforat & & Frerdt ofyard amz & 9
can the Myopia in human eye be T ¥ 7
corrected? (A) o (B) g
(A) Convex lens (C) @i (D) ®Ez
(B) Concave lens
(€) Cylinderical lens 76 In which year the central government
(D) Bifocal lens gle(rigcd E}ailway Budget into the General
praffa W @ g ofw @1 Swm udget ?
Waﬁ@aaqmmmﬁ@mﬁqﬁ forer o & %= wrwrC 3 1@ AW H AH TAZ
weal & 7 & Ty foen fam ? -
@ < N S © 218 () 2017
(C) FwER ©@ (D) IEwH w
. 77 Which suburban township was founded
Vishal takes 15 seconds to stand up from by Krishana Dev Raya near Vijaynagara
the ground and 11 seconds to sit on after his mother's name ?
ground. He has to continue this process (A) Hampi (B) Nagal
for sometimes. Within 98 seconds, how (C) Berar (D) Nagalapuram
many times must he have stood up. while X are HrEw % AW 9T faeraeT
initially he was sitting on the ground ? ¥ ofig frE STTTT @ @ @& 7
(A) 3 times (B) 4 times (A) ¥ (B)
(C) 5 times (D) 6 times C) =TT (D) TreqTH
st v & et €9 & Ry 15 debvs wa 2
t 3 i gt 423 & fau 1] @508 W gi 78 A gas reacts with CaO but not with
qg "G 9% wftmar @1 ST T NaHCO;. The gas is -
QS?ﬁ;ugﬁagg%zﬁm@am,mﬁﬁ s T, CaO & Wy @ v s &, arg
i ? NaHCO; & | éf | o g %
e H T S YL co, B) ClI
(A) 3 art (B) 4 aX V{?;N 2 ED;OE
€) 5ax (D) 6 A 2 2
11 [ Contd...





